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Attempt all questions.
All guestions carry equal marks.
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What are the causes of Industrial Dispute ? How
industrial dispute can be settled according to the
Industrial Dispute Act, 1947 ? 6+9=15
it foar ® w1 Frw 97 §7 shedfirs frag sifufem,
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Explain Bonus and what are the conditions for the
eligibility of bonus ? When is an employee disqualified
from receiving bonus amd what is the minimum and

maximum rate of Bonus ? 6+6+3
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Explain the rules regarding ‘welfare’ of workers under
the Factories Act, 1948, 15
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What are the different schemes available to0 employees
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under thg 'Employees Provident Fund and Miscellaneous
Provisions Act, 1952. 15
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Answer any five of the following : 5x 3=15
(i} Factory

(i) Workman

(iii) Wages

{iv) Dependent

{v) Award

(vi) Disablement

(vii) Strike

(viii) Lock-out

(ix) Gratuty

(x)} Bonus
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(vi) T vraan
(vil) &gdre
(viii) TSR
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OR (3rerm)

When does Gratuity become payable to an employee
and explain the circumstance when the amount of

Gratuity can be forfeited ? 7+ 8
FHIN B I S 2 & @ £? A ffeafrwd
W FHifu 99 IRA-TE F T H AT 1 gwa §2

Define Trade Union and discuss it functions under the
Trade Union Act, 1926 7 6 +9 =15
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Write short notes on any three of the following :
3x5=15
(i) Payment of Bonus Act, 1965.
(i) Minimum Wages Act, 1948.
(i) Equal Remuneration Act, 1976.



(5)
(iv) Industrial Employment (Standing Orders) Act, 1946.
(v) Contract Labour (Abolition and Regulation) Act, 1946.
(vi) Employees’ Provident Fund Act, 1952.
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Describe the different benefits provided to workers
under the Employees' State Insurance Act, 1948. 15
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OR (31aam)
Compare and contrast any three of the following :
3x5=15
() Conciliation and Mediation
(i) Strike-Lockout
(iii) Wages-Bonus
(iv) Employee-Employer
[P.T. O.
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(v) Partial disablement and Total: disablement

(vi) Contractor-Contract-Labour. .+ ' -
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